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( )

( )

1 2

1 2

2

2

1

1

1 1
B

T T
T T

2 T

2 T

1

1 1
4000

373 298
T P

1 1
3000

373 298
T q

R R e

For P: =3000k, At T 298K,  R 2k

For Q, =3000k, AT T 298k,  R 2k

At T 373k,

R 2k e  ........... (1)

R 2k e  ........... (2)

Eqn. 1

Eqn

 
−  

 

 − 
 

 − 
 

=

β = = Ω

β = = Ω

=

=

=

0.509
. 2

=

 

33. (B) 

-

ooi
o

By KCL at V ,

0 3.2 V0 VV
V 6.6V

1k 10k 10k

− − −  = + ⇒ = −
 

34. (A) 



           INGATE-2009        www.gateforum.com 

© All rights reserved by GATE Forum Educational Services Pvt. Ltd.  No part of this booklet may be reproduced or utilized in any form without the 

written permission. Discuss this question paper at www.gatementor.com.                                                                 5 

Input resistance = iV

I
 

i oi

o oi

o i

i i i i i i

i

V VV 0
I   KCL at node 1.

R 2R

0 V VV 0
 KCL at node 2.

R 3R 3R

V 3V

V V 3V 2V V 3V
I=

R 2R R R R

V
R /3

I

−−
= +

− −−
= =

= −

+
+ = + =

=

 

35. (B) 

It is a limited circuit 

It makes a transition from +5V to -5V. 
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46. (B) 

Characteristic equation is  
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